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QUESTION 1

What is true of outgoing transitions from a fork pseudostate? 

A. may have guards 

B. are mutually exclusive 

C. are taken serially in arbitrary order 

D. must terminate in different regions of a state 

E. can only exist if the object is declared concurrent 

Correct Answer: D 

 

QUESTION 2

What elements can have variables in activity diagrams? 

A. actions 

B. activities 

C. partitions 

D. structured nodes 

E. structured edges 

Correct Answer: D 

 

QUESTION 3

In the exhibit, what is true about Mstrict? 
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A. The whole Mstrict has only one legal trace. 

B. Sending r precedes sending p in all legal traces. 

C. Sending q precedes reception of r in all legal traces. 

D. Within the strict combined fragment, sending a signal will immediately be followed by the reception of that signal. 

Correct Answer: C 

 

QUESTION 4

What does a loop node consist of? 

A. guards 

B. clauses 

C. partitions 

D. behaviors 

E. parameters 

F. bodyPart nodes 

Correct Answer: F 

 

QUESTION 5

In a state machine, what is true for a "do" activity of a state? 

A. can only appear in a composite state 

OMG-OCUP-200 VCE Dumps | OMG-OCUP-200 Practice Test | OMG-OCUP-200 Study Guide                               3 / 4

https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html
https://www.geekcert.com/omg-ocup-200.html


https://www.geekcert.com/omg-ocup-200.html
2024 Latest geekcert OMG-OCUP-200 PDF and VCE dumps Download

B. is equivalent to an entry action of a state 

C. starts executing when the state is entered D. executes repeatedly as long as the state is active 

E. specifies a condition that must always be true when the state is active 

Correct Answer: C 
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